
Standard hatch pit system with 2 slots
Standard 1 slot
right

Standard 1 slot
left Standard 0 slot

F-PHS-01-12-02 F-PHS-01-02-01 F-PHS-01-02-11 F-PHS-01-12-00

POS. ITEM NO . DESCRIPTION
QTY/

SYSTEM

1 F14-95-3-29-0000-SP Cover lock complete 1

2 F64-04-2-02-0000
Checkerplate f.
baseplate1210x910x5/6,5mm Alu

1

3 F64-04-3-02-0020-SP
Checkerplate hatchcover
702x600x5/6,5mm Aluminium

1
F64-04-3-02-0011-SP F64-04-3-02-0000-SP

4 F64-04-3-03-0000-SP Rubber sealing Hatch Cover 1

5 F64-20-3-03-0000-SP Turning lever 2

6 F64-95-5-26-0000 Foot Lock complete 1

8 F14-29-3-04-0030-SP Clamp Piece 4

9 F14-29-3-05-0030-SP Turning Lever bolt 2

10
F14-29-3-11-0000

Bearing Bolt D=20x50mm counter
weight

2

11 F94-02-0-15-2023 Friction Bearing GSM 2023 4

12 F64-00-3-10-0000-SP Cover plate slot 2 Qty 1 Qty 0

13 F64-04-2-03-0000 Filler base plate 1

14 F90-26-5-05-0100 Countersunk screw M5x10 2

15 F91-30-5-08-0000 Washer for M8 4

16 F91-08-5-08-0000 Lock nut M8 4

17 F90-36-5-08-0300 Set screw M8x30 4

18 F90-28-5-06-0160 Countersunk screw M6x16 56

19 F91-30-5-10-0000 Washer for M10 4

20 F90-38-5-06-0120 Socket pan head screw M6x12 8

Dabico Airport Solutions USA, Indianapolis.
5740 DECATUR BOULEVARD INDIANAPOLIS, IN 46241


